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Instructions : (1) All questions are compulsory.
(2) Select the correct answer from the option (A), (B), (C), (D).
(3) Each question carries one mark.

I From which Greek word is economics derived ?
(A) Ecology (B) Economic (C) Nomos (D) . Oikonomikos

2. On which axis are the independent variables like countries, year, rainfall etc. usually
represented ?

(A) Vertical axis (B) On the point of origin
(C) Horizontal axis (D) Rectangle
3. How macro-economic analysis help to government ?
(A) Taking sports decisions (B) Taking economic decisions
(C) Taking family decisions (D) <For services

4. What 1s the monetary payment.in exchange of goods called ?
(A) Price (B) Value (C) Exchange (D) Wealth

5. How many types of economie (dynamic) changes ?
(A) One (B). Two (C) Three (D) Four

6.  Who/which type of organization present data CDs pertaining to economic information ?
(A) Private Publisher
(B) _Schoels
(C) Laboratories, Research Centres, Government etc.
(D) Individuals

7. Which 1s the formula for obtaining proportional degree for a component data ?
Component value Component value
(A) Total value (B) Total value 360

Total value Total value
(©) Component value %300 (0) Component value
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Which concept is qualitative ?
(A) Economic Development (B) Economic growth
(C) National Income growth rate (D) Per Capita Income growth rate

Which country was first in Human Development Index according to 2014 Report ?
(A) Norway (B) Japan (C) USA (D) Germany

“Development 1s a multi-dimensional process.” Who has given this statement ?
(A) Marshall (B) Todaro (C) Machlup (D) Robbins

What was the infant mortality rate of India in 2014 ?

(A) 07 (B) 17 (C) 39 (D) 27

Which factor of production 1s a gift of nature ?

(A) Capital (B) Labour (C) Entrepreneur (D) Land
What 1s the total numbers of units produced by a producer called ?

(A) Supply (B) Demand (C) Stock (D) Production
Who does the function of credit creation ?

(A) Central Government (B) RBI

(C) Commercial Bank (D) State Government

According to the 2013 report, which state has the highest poverty in India ?

(A) Bihar (B) Jharkhand . (C) Mizoram (D) Chhattisgarh
Which unemployment 1s creating from the emergence of new production method and
technology ?

(A) Disguised (B) Cyclic (C) Frictional (D) Underemployment

Which day 1s declared as Employment Day ?
(A) 2" October “(B). 2™February (C) 1% May (D) 14" November

In which year the first census in India was done ?
(A) 1947 (B) 1951 (C) 1921 (D) 1871

What was the rank of India in world for total exports in 2014 ?
(A) 29 (B) 19® (C) 39 (D) 15t

In which State of India, the first crude o1l stock was found ?
(A) Bihar (B) Gujarat (C) Assam (D) Maharashtra

Which unemployment i1s known as Hidden unemployment ?
(A) Disguised (B) Seasonal (C) Cyclic (D) Educational
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In which State of India there 1s highest Male-Female Ratio ?
(A) Kerala (B) Gujarat (C) Uttar Pradesh (D) Bihar

Inflation caused due to increase in demand 1s called
(A) Supply pull (B) Demand pull (C) Salaryinduced (D) Cost induced

What was the ‘average life expectancy’ of India in the year 2014 ?
(A) 63 vears (B) 75 years (C) 79 years (D) 68 years

Usually which production techniques increase unemployment 1n India ?
(A) Capital Intensive (B) Labour Intensive
(C) Agriculture oriented (D) Education oriented

What was the population of India in the year 1951 ?
(A) 439crores (B) 548crores (C) 36.1crores (D) 31.9 crores

Which accounting statement shows the value of invisible as well as visible exports and

imports ?

(A) Balance of trade (B) Budget

(C) Balance of payment (D) Capital Account
What 1s the amount of investment done in the large scale industries ?
(A) 5-10 crores (B) More than 10 crores
(C) 25 lakhs to 5 crores (D) Below 25 lakhs
When were economic reforms implemented in‘India ?

(A) 1991 (B) 1951 (C) 1947 (D) 2001
Who has the authority to i1ssue one rupée currency notes in India ?
(A) Central Bank (B) State Bank of India
(C) Finance Ministry of India (D) RBI

Which kind of commodities are ecalled ecomplementary commodities ?
(A) Joint (B)..Competitive (C) Notrelated (D) Alternative

Who has presented Lkaw of Demand ?
(A) Adam Smith (B) . Marshall (C) Robbins (D) Keynes

When products are very expensive, then how 1s the demand of prestigious goods of the rich ?
(A) More (B) Less (C) Zero (D) Negative

What are the changes that take place in supply due to decrease in the price of a
commodity ?

(A)" Inereasc (B) Expansion (C) Contraction (D) Decrease

What decrease therefore profit decreases and due to that supply decreases ?

(A) Stock (B) Supply (C) Price (D) Price elasticity of demand
Which cost cannot be measured ?

(A) Real cost (B) Monetary cost

(C) Opportunity cost (D) Long-run cost

NH-143 7 P.T.O.



31

38.

39,

40.

41

42

43

44

45.

46.

47

48

49.

S0.

Which cost has direct relation with the production units ?
(A) Fixed cost (B) Vanable cost (C) Average cost (D) Marginal cost

How i1s the slope of fixed cost curve ?

(A) Negative (B) Positive

(C) Parallel to x-axis (D) Parallel to y-axis
In which market ‘Firm 1s an Industry” ?

(A) Perfect competition (B) Monopoly

(C) Monopolistic competition (D) Oligopoly

Selling cost 1s an important characteristic of which market ?

(A) Monopoly (B) Bilateral monopoly

(C) Monopolistic competition (D) Perfect competition

‘Price stickiness’ (rigidity) is seen in which market ?
(A) Perfect competition (B) Oligopoly
(C) Monopolistic competition (D) Monopoly

In 2014-15 which sector contributed the maximum to national income ?
(A) Agricultural (B) Industrial (C) Service (D) Foreign Trade

Which of following 1s not a primary service ?
(A) Education (B) Transport (C) Impeort-Export(D) Irrigation

From which year was FEMA introduced in India ?

(A) 1973 (B) 1980 (C) 1991 (D) 1999

What is the investment made by foreign eompanies in our country called ?

(A) FERA (B) FEMA (C) . FDI (D) NRI

Which among the following 18 not included 1n closed economy ?

(A) Families (B) Firms (C) Industries (D) Foreign Trade
Which expenditures of Government are not considered in National Income ?

(A) Productive (B) Transfer Payment

(C) Wages of Labourers (D) Defence Expenditure

Education is the responsibility of which Government ?

(A) Central Government (B) State Government

(C) Local Government (D) Joint responsibility of Centre and State
Upon whese recommendations do the States get a share from revenues of the Centre ?
(A) Planning Commission (B) Finance Commission

(C)  NITT'Aayog (D) Central Government

Who was the patron of ‘Integral Humanism” ?

(A) Gandhiji (B) Pandit Deendayal

(C) Kautilya (D) Prof. Marshall
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